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QUESTION 1

Which of the following is part of a Green IT Procurement process?

A. Implementing effective escrow agreements for software products
B. Negotiating discounts for products with high energy consumption.
C. Ensuring that suppliers comply with your environmental policy.

D. Requiring that suppliers have an effective Health and Safety policy.

Correct Answer: C

QUESTION 2

Which of the following is a legal factor driving the adoption of Green IT within an organisation?
A. The need to address changing weather patterns.

B. The need to comply with government legislation.

C. The need to receive relevant industry funding.

D. The need to improve negotiating power with suppliers.

Correct Answer: B

QUESTION 3

What is the role of a Stakeholder Map in a Green IT programme?
A. It provides performance measurement of key stakeholders.

B. It highlights the responsibilities of each stakeholder.

C. It identifies where the roles of stakeholders overlap.

D. It identifies where stakeholders will influence the programme.

Correct Answer: D

QUESTION 4
Which of the following is a role of Asset and Configuration Management within Green IT?
A. To identify where new data centres can be located.

B. To identify where old computer parts can be recycled.
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C. To identify where computer equipment can be re-used.
D. To identify where existing servers can be moved.

Correct Answer: B

QUESTION 5

Which of the following methods is used to assess the full lifecycle cost to a user of an IT service?
A. Total Cost of Utilisation.

B. Total Cost of Ownership.

C. Total Cost of Provision.

D. Total Cost of Allocation.

Correct Answer: B
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